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QUESTION 1

Your customer is managing a large sales team divided in two different geographies in the USA. They have 

the East Coast sales team and the Central sales team. Both teams are handled by one manager and 

perform the same function. 

Your customer wants to track the expenses of the two teams separately; however, they do not consider 

them different as they are handled by one manager only. 

How will you fulfill the requirement? 

A. Define them as two separate departments and a single cost center. 

B. Define them as one department and one cost center. 

C. It is not possible to fulfill the requirement. 

D. Define them as a single department and two separate cost centers. 

Correct Answer: D 

 

QUESTION 2

Which three values are applicable for the profile option ?"Transaction Processing Mode" for subinventory transfer and
interorganization transfer? 

A. Background Processing 

B. Blind Processing 

C. Sequential Processing 

D. Concurrent Processing 

E. Offline Processing 

F. Online Processing 

Correct Answer: ADF 

 

QUESTION 3

What are two outcomes when a lot expires on an item with lot control enabled? 

A. It cannot be reserved for a date beyond the expiration date. 

B. It is issued out of stores. 
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C. It remains in inventory, but is not considered on-hand when the user is performing min-max or reorder point planning
calculations. 

D. It cannot be transacted. 

E. It is not included in cycle counts. 

Correct Answer: AC 

 

QUESTION 4

Your customer decides to implement Cloud Procurement and Inventory. While discussing with your 

customer, you come to know that they have a business that spans across multiple locations and they have 

warehouses situated across USA and Canada. 

All their procurement, payables, and distribution activities take place from USA. 

They have a central warehouse in USA and after the goods are delivered to this warehouse, they are 

distributed across multiple additional warehouses. The warehouses are managed separately from the 

requisitioning units. 

For requesting material they have two units. One located in USA that monitors the current stock. 

They are responsible for creating requisition for any material shortage in USA. They have another location 

in Canada for requesting material. 

Which setup fulfills this scenario? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 5

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order 

Quantity. Assume that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable 

rounding the reorder quantity. 

What will be the reorder quantity? 
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A. 30 

B. 25 

C. 24 

D. 20 

Correct Answer: A 
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